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Ill Semester B.Com. Examination, April/May 2021
(Semester Scheme) (2013-14 and Onwards) (Repeaters)

COMMERCE
3.3 : Corporate Accounting
Time : 3 Hours Max. Marks : 100
Instruction : Answer should be written completely in English or in
Kannada.
SECTION - A
Answer any ten sub-questions. Each sub-question carries 2 marks. (10x%2=20)

1. a) What is partial underwriting ?
b) Give the meaning of firm underwriting.
c) What do you mean by bonus shares ?
d) What is redeemable preference shares ?
e) Pass the journal entry for issue of equity shares at discount.
f) State the meaning of forfeited shares.
g) Mention the methods of valuation of Goodwill.
h) What do you mean by Average Capital Employed ?
i) Why do you prepare profit and loss appropriation account ?
j) State the factors affecting the valuation of shares.
k) How do you treat preliminary expenses in company final accounts ?
I) Whatis TDS ?

SECTION - B
Answer any four of the following questions. Each question carries 8 marks. (4%8=32)
2. A company issued 2,00,000 shares. These shares are underwritten as follows :

A — 1,20,000 shares, B — 50,000 shares, C — 30,000 shares.
In addition to the above, there is firm underwriting A — 16,000 shares,
B — 6,000 shares, C — 20,000 shares.

The total subscription including the firm underwriting was 1,42,000 shares and
the forms are included the following marked forms :
A — 20,000 shares, B — 40,000 shares, C — 10,000 shares.

Find out the net liability of underwriters. e
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5. ABC Co. Ltd., 1S , 8% redeemable preference shares of 2 100
each fully paid hares Were redeemed ata premium of 5%. For this
urpose; the issued 400 equity hares of X 100 each at 2 premium
The company had a balance of 28,0001n security premium
nd loss account.

of T 4 per share.
and T 1 75,000 in profit a
d the above redemption-
pusiness ©of Rajesn- this purpose.
profits of last

c) In order 10
for Goodwill purpose:
nder Net

culate the value of Goodwi\l.

Cal
5. From the following pamcu\ars com
Assels method
4
Land and Building 2 00,000 Bills Receivab\e 1,00,
plant and Machinery 2 50,000 gundry Debtors
Furniture 1,00,000 Debentures
Goodwill 50,000 g. Creditors
Equity hares of 10
each
How do you show the following items while prepaﬁng Company Final Accoun
a) Goods d triputed as free sam les
b) Transfer fees :
C) preliminary expenses
d) Discount O igsue of ghares
e) Calls in arrears
1) \nterim dividen
Debenturé interest
stroyed bY fire
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SECTION - C

Answer any three of the following questions. Each question carries
16 marks. (3%16=48)

7. A company issued 2,70,000 shares of 2 10 each which were underwritten as

follows :
P — 90,000 shares (firm underwriting 9,000 shares)

Q - 67,500 shares (firm underwriting 7,200 shares)

R - 45,000 shares (firm underwriting 1,800 shares)

S - 67,500 shares (firm underwriting 18,000 shares)

The total applications excluding firm underwriting but including marked
applications were for 2,07,000 shares. The marked applications were as under
P — 31,500 shares, Q — 22,500 shares, R — 13,500 shares, S — 27,000 shares.
Calculate the net liability of each under if firm underwriting is treated as

a) Marked applications

b) Unmarked applications.

4 Assets L4
Building 2,00,000
2,00,000 Machinery 1,00,000
2,00,000 Debtors 1,00,000
1,00,000 Stock 80,000
: 1,00,000 Cash 1,20,000
3 6,00,000 6,00,000

on ge capital employed is 10%. Find out the value of
Goodwill on the basis of 2 years purchase of super profits. Building is revalued at
¥ 3.50,000 and Machinery at T 90,000.

'S On 31-03-2016, the Balance Sheet of TRISHA Company Ltd.. shows the

following position :

Liabilities 4 Assets 4
Share Capital (of 2 10 each) 16,00,000 Fixed Assets 20,00,000
Reserves 2,60,000 Current Assets 8,00,000
PandL Alc 80,000 Goodwill 1,60,000
5% debentures 5,00,000

Current Liabilities 5,20,000

29,60,000 29,60,000
On 31-03-2016, Fixed Assets were revalued at % 18,00,000. The profit for the three
years were 2014 — X 2,10,000, 2015 — % 2,20,000 and 2016 — % 2,40,000.
Of the above 20% was placed to the Reserve account. The fair return on Capital
employed is at 10%.
Calculate the value of equity shares of a company under :
a) Net Assets method
b) Yield method.




QP - 327 4 |

10. Lakshmi Company Ltd. gives the following Trial Balance for the year ending
31-03-2016.

Particulars Dr. Cr.
¢ 3

10% Preference share capital (of 2 10 each) - 10,000
Equity share capital (of 2 10 each) 5 48,000
Stock (1-4-2015) 6,000 -
Purchases and sales 72,000 98,000
Discount \ 2,200 5,400
Salaries 12,000 -
Rent 6,000 -
Miscellaneous expenses 500 -
Dividend for previous year 4,900 _ -
Debtors and creditors 28,000 7,000
Machinery 25,000 -
" Cash and Bank Balance 25,500 —~
Share premium - 2,500
Debentures - 10,000
Interest 3,900 -
Forfeited shares - 800
Loan to Director 5,000 -
Director’s fees 3,000 -
Audit fees 2,000 -
Unclaimed dividend - 1,000
P and L Appropriation A/c (1 -4-2015) - 13,300
1,96,000 1,96,000

Adjustments :

1) Closing stock was valued at % 12,000

2) Depreciate machinery by 10%

3) Commission earned but not received Z 10,000

4) Transfer 210,000 to General Reserve.

You are required to prepare Company’s Final Account in vertical format.




